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20109

FINANCIAL ACCOUNTING
( Honours/Regular )

Paper : COM-HC/RC-1026

Full Marks : 70

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. (a) Select appropriate answer from the
different alternatives : 1x5=5

RfSa Res [ 5% Teor AR Sy

(i) Normally method of valuing of asset
should not be changed. This
principle is known as the principle
of
Fefiece T4 TR s AR
FMYuPe | RAT TN __ AR
freA |

(1) business entity concept

JENRF SRR 4RI
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(2)

(2) dual concept
(7S 4RI

(3) full disclosure
o APPR

(4) consistency

e «fy R

(i) In case of hire purchase transac-
tions, although legally the hire
purchaser does not become the
owner of the asset till the payment
of last instalment, he is allowed to
record the asset at full cash price in
his books of accounts even on the
date of acquisition. This principle of
accounting is known as

o pRR o 3fis creeo R
ffatae @ wiweed TR
RITG A8 GIRIE, oA =oife o=
TR e o fpe e e
s omen ofif? w91 i AT T
Lt

(1) full disclosure concept

A opR S ot
(2) business entity concept

FRT =¥ g3 B
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(3)

(3) dual concept
e g o

(4) substance over legal form

HZAT® IR 899 FART{ S
ot

(i) The total amount payable by the
hire purchaser as per hire purchase
agreement in order to complete the
transaction is known as

So-Ed PR (FOR SIU-T RN
e EFem T IR ARy
SR e e Qe |

(1) higher purchase price
SRR U
(2) face value
ke 0
(3) cash price
9 I
(4) higher vendor cost
1ol FH-ReFor I
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(4)

(iv) Debtor system of accounting
procedure of dependent branch is
also known as

CTIMR “Tafe St < oot afférre
___ Rewtwmam
(1) Stock A/c
o < fRoret
(2) Final System
PO “1&fS
(3) Stock and Debtor method
TGS A HF AT Ta(S
(4) Synthetic system
foceibe smfs
(v) Purchase of Goods + Opening Stock
+ Direct Expenses - Closing Stock =
T &Y + ARG TGO o + ASFH I -
A TGS A =
(1) Gross Profit
I S
(2) Total Indirect Expenses
Y ST I
(3) Cost of Goods Sold
R&$le /|
(4) Invoiced Price
oS S 1
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(S)

(b) State whether the following statements
are True or False : 1x5=5

o (R 37 A ST oD 90 -

(i) Accounting Standard AS-2 deals
with disclosure of significant
accounting policies followed in
preparing and presenting financial
statements.

o ¥F AS-2 wifde R oge o
TorgIofe es (R AfeRe
R TS TS |

(ii} Under instalment purchase system,
the seller treats the transction as a
cash sale.

e T rafvs ReaelR Erme Fom
& Bt a1m $3 |

(iii) In the absence of any provision in
the partnership deed, profit and
loss are shared by partners equally.

SR pfetae  RIRR Ed
AR TR TS ATS -6

I [ReliEs =4 |

(iv) For creating a company we use
Alt+F2.
@Rl @B R IRIE Wit Alt+F2
IR FEA
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(6)

(v) The valuation of inventory affects
only the income statement.

TGO AN A e o RYfeF AR
o |
2. Answer the following questions : 2x5=10
ffeRe erears Tes for

(@) “One of the methods of branch
accounting is debtor system.” Why is it
so called?

‘iR RETRR B RS FA (MR
&S I W T (o e =

(b) Mention two features of accounting

principles.
ot Moryza 1 caE fo

(c) Define International Financial Reporting
Standard.
wreEifes R eI T Fige ford |

(d) Mention two objectives of income
measurement.
S R IR Jo1 S SeE 941 |

(e) What do you mean by marshalling of
Balance Sheet?

TS~ ARG N R 330 ?
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(7)

3. Answer the following questions : 5x4=20
RS arcars Tes fr

(a) Describe the functions of Accounting
Standard Board.

TR T« RO 39 =0 |

Or / &%t
Give a brief account of the structure
of Generally Accepted Accounting
Principles.
YRS RN oo’ Y Mo by vy
R faan 1

(b) State the advantages of using
computers in accounting.

forierre IR ]I/ JRIER Ty
Ealll

Or/ 9@
Distinguish between manual accounting
and computerized accounting.

oI oFS 41 2o oF FRTHRT T[T oEe
391 o[ TER e B

(0 Write a note on the accounting
treatment of Interest Suspense Account
" in the books of the buyers.
AR WS TR TS R BT mie
oS |t (B fo |
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(8)

Or / G[1

On 1st April, 2016, Mr. A purchased a
machine on hire purchase system and
paid ¥10,000 as down payment and
agrees to pay the balance in four annual
instalments of 14,000; ¢ 13,000;
¥12,000 and 11,000 payable on
31st March each year. The vendor
charged interest @ 10% p.a. Mr. A
provides depreciation @ 10% p.a. on
reducing balance method.

Ascertain the cash price of the machine.

2016 59 1 fTe A @ S8l FH-Tafos 9Bl
@1 1 FR 10,000 51 wesr wiesr AR
R W 9@ @RA 14,000 H;
13,000 B; 12,000 531 W% 11,000 3FW
oI A RS Roteet oS wmew 31 W16 ©ReY
AReTy IR TS ficer 1 Regpory ooz
M 10% I /W M I3 1 A@ =R 10%
IS TP oSS GIHY 67 ¢ |

53 o o0 ottt 41 |

(d) What is Trading A/c? Write three
objectives of preparing Trading A/c.

F-Ray B w7 w-Rag Roret o5
I R0 Semp fora |
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(9)

Or/ 91

X, Y and Z are partners sharing profits
and losses in the ratio of 3: 2 : 1. After
preparation of the final account it was
found that interest on drawings @ 5%
p.a. had not been taken into
consideration. The drawings of the
partners were X—¢ 15,000; Y—¥ 12,600
and Z—¥ 12,000.

Calculate the total interest on drawings.

X, Y9 Z 3:2:1 SIes & §F
RO SR (TRR JERE SRR wifet |
por I o ¥R Pime o vF @
ofS I 5% F ARIAN SRS T GG IR
@Rl TfRA | TP W wifRe
X-15,000 %, ¥Y—12,600 59 EF
Z—12,000 57 |

SRR SRS 3 i A1 T4 |

4: What is meant by Differed Revenue
Expenditure? Explain the basic principles
that is taken into consideration in allocating
expenditure as capital and revenue with
examples. 3+7=10
Refe e W T 7 R @ | @R 3
e Pt RS e & R FRfS @S @R
Y, TP IR 40

20A/533 ( Turn Over )



(10 )

Or/ 91

Define Accounting Standard. Explain the
procedure of setting Accounting Standards in

India. 3+7=10
PR TR KW | SRee BER YW
AV TIR S AFT ARG a1 7 |

5. X Co. of Delhi has a branch at Shillong.
Goods are sent by the Head Office at invoice
price which is at the profit of 25% on cost
price. All expenses of the branch are paid by
the Head Office. From the following
particulars, prepare Branch A/c and Goods

sent to Branch A/c in the Head Office books :
6+4=10

e X @l fees @b T oweR| 1w
IR T T eF{S 25% o 4R TR
v fied | e e S SR W 30 IR
T2 FfRe | Al SUERT [/l 79 IR Qe
MR B WF IRRE R I OWAR R
I$FS F91 :
7o)
Opening Balance :

N Tge :

Stock at invoice price 11,000

SR oS VS T

Debtors 1,700

AR
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(11

G
Petty Cash 100
RIS
Goods sent to Branch at invocie price 20,000
AL CoReT 31 TR Yoo A
Expenses made by Head Office :
T Frferca o 9%
Rent 600
STl
Wages 200
Salary 900
LeEed]
Remittances made to Head Office :
T PR (29 TN WA
Cash sales 2,650
o R
Cash collected from debtors ' 21,000
G 21 TR T AW ¥
Goods returned by branch
at invoice price 400
a2 e o SRR oS TR
( Turn Over )
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(12)

¥ o)
Balance at the end :
AR Bge :
Debtors 2,000
WEige|
Petty cash 25
ISR
Stock at invoice price 13,000
SR TS TGS 51

Or / 931

Ajoy purchased a machine on instalment
system from B. K. Co. on 01.01.2014. It was
agreed that ¥ 15,000 was to be paid on
signing the agreement and a sum of & 15,000
was to be paid annually for 3 years. The cash
price of the machine was ¥52,300 and the
rate of interest was 10%. Depreciation is
charged @ 20% on the straight line method.

Show the Interest Suspense A/c, Interest
A/c and Ajoy A/c in the books of B. K. Co.
3+2+5=10
g R @, @R o[ R[iRrs mfes 9t 73
% WRER], 2014 ey @9 IR | pfe T
@R TS 15,000 591 W< 2f® 921 15,000 B
R =3 ~ifReny IRIA (Foiz TR =W | TR W
7N 52,300 531 SF 79 T 10%. =R 20% T©
TRAERT &oo Sy 1 T W |
R @ @ErRR e #he T/ e, TR o
[ SR 2611 oS 34 1
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(13)

6. From the following Trial Balance of
M/s. Sharma Traders, prepare a Profit &
Loss A/c for the year ended 3lst March,
2019 and Balance Sheet as on that date :

3+3+4=10

o6 *iff Gorsy 2019 X 31 W16 B W7 (I

IR/EA IR RS Tge Re-oad /1 93"
AS-EFoH o1 I CR SR 93\ Tge-od

o480 9l .

Debit (C%35) 7 59) Credit ((&%D) ¢ o)
Cash in Hand 13,000 Loan 50,000
oo HIA1 49 49
Carriage Outwards 2,400 Royalty 1,200
RF=fe R T
Wages and Salaries 22,100 Sundry Creditors 42,500
TR = [T Rfea MR
Carriage Inward 1,800 Discount Received 2,200
TS R of1es 3!
Octroi Duty 1,200 Reserve 40,000
GlepiCal s ot
Motorcar 1,77,000 Reserve for
59 oI Doubtful Debt 10,200
Investment 20,000 Wﬁﬂ ]
Rt Commission 1,100
Bills Receivable 23,000 IR0
offery a1 Bills Payable 18,000
Sundry Debtors 1,00,000 oTH =
YR (IS Capital 1,00,000
Plant Machinery 90,000 A
FFHI Bank Overdraft 20,000
Furniture 20,000 @FS SR
eI Sales 3,64,000
Purchases 1,20,000 &
&Y

( Turn Over )
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Debit (¢Rb)
Opening Stock
A TGS D
Trade Expenses
IRF T

Advertisement

Re=rom
Coal and Gas

T HF (R

Insurance

B
Bad Debts

AR 49

RS :

(14)

e =)

50,000
1,000
2,700
1,500
1,500

2,000

6,49,200
Adjustments :

Credit ((Ff5)

(i) Closing Stock—¥ 50,000
SR TS *4—50,000 T

(i) Further Bad Debts—¥ 3,000
HfefRe SqaRTg 99—3,000 B3

(i) Depreciate Plant & Machinery and

Motorcars @ 10%

? 69

6,49,200

FFG TF I64 MO S[S 10% IS STHA

X Fq

(iv) Prepaid advertisement—¢ 200
S e Reem—200 531

(v) Reserve for Doubtful Debts is to be
maintained at 5% on Debtors
SERAN ¥R R (AMRY @RS 5% T

AT =

20A/533
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(15)

Or / o[l

Roni and Johnny are partners in a firm
sharing profits in the ratio 3 : 2. The Trial
Balance of the firm as on 31.03.2019 was as

follows :

M o1 G b1 AR AR | OIS 3 : 2
Gee e IGA I 31.03.2019 IRy
(oS e e -y oo iR W ke -

Debit ((5Rb)
Debtors
G M_
Furniture

I
Machinery

Tenfe

Salaries

=Y

Insurance Premium
on Machinery

T O[S I

Bad Debts

SN 4

Cash in Hand

S Gl &

Rent

S

Bank Charges

QT

Carriage Outwards

& Rz
Depreciation on
Furniture

HHIRF TS w4
20A/533

v 5

10,000
10,000
31,000

13,200

1,200
200
10,400
6,000
420

1,450

1,000

Credit ((3Ffe5) ¢ o)
Trading A/c 41,120
@I Bt
Bad Debt Recovered 600
GG 4R FER
Sundry Receipts 1,000
RRy af
Provision for Bad Debts 800
SERTE 4R A

SRYe ]|
Commission 250
I
Creditors 10,000
M-Sl
Rent Payable 200
ez ot
Bills Payable 2,400
s 3R 41 Ra
Capital A/c :
e o
Roni 20,000
M
Johnny 15,000
R
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(16 )

Debit (cSR5) e (5% Credit (cFfe5) e (o)
Drawings :

=3 -
Roni 4,000

b 1L
Johnny 2,500

&

91,370 91,370
Prepare the Profit & Loss A/c and Profit &
Loss Appropriation A/c for the year ended on
31.03.2019 and a Balance Sheet as on that
date after considering the following
adjustments : 3+3+4=10
wore fia RernR Rere 4R 31.03.2019 wifiey
8 [l IRWOR A ARBAGR “re-coesE Rt
E AE-EROH S o wF e ey
Tge-q 21ge 71
i) Machinery is to be depreciated by 10%
TS ST 10% ¥ 2T
(i) Provision for Bad Debts is to be
increased by ¥ 200
SRl 499 e SRYe =@ 200 o R
39
(i§) Roni was to receive salary @ & 300 per
month

g TR 300 TIF WY R
(iv) Interest on capital is allowed @ 5% p.a.
T SRS IR 5% JA ¢ faar 71

* % %
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